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F(r) = -Va(r) - grad &(r) (3.2.1)
v (nabla)
gradient 2 grad
V:|£+ji+k2 (3.2.2
ox Oy 0z
1 ﬁ ), z
o x
ar) 1 D,
dAr)—-d =0 (3.2.3)
1 (0]
(3.2.1) Foor
F
Ar) T
D(r)=d(r) (3.2.4)
i 0 9 Nl il ﬂ 4oy (3.2.5
(I§x+J§y )GD() (I + & +K )( ) ( )
1
é’r_é’(x2+y2+22)2 X (3.2.6)
ox ox B
Var) “C——JC—) (3.2.7)
Ar) va(r) r dd/dr
Vaxr) dd/dr
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ée1 r

€162
D(r) =
) Arer
(Coulomb’s law)
&
F( )/m (3.2.8) (3.2.7)
€2 €1
€1€o
F=_—"12¢
Arze 3
F r
(3.2.8) ar)
3.3
mﬂ:F
dt
vdt dr ho(
V2) (3.3.1)

tp V2
mjﬂvdt =m [vdv = Em(v% —vP)
1 Vi

2
- my

D(rp)

FE dr =~ IV (r)-dr = [4 = (1) - D(ry)

n n o(n)
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€2 e1

(3.2.8)

£= g = 8.854x10™2
(3.2.1)

(3.2.9)

(Coulomb force) e1 e

e1 [25) F r

(3.2.9)

(3.3.1)

r V1) ty ( ra

(3.3.2)

(3.2.1) (3.2.7) (3.3.1)

(3.3.3)



3.4

[F-dr F

%mvg +(ry) = %mvf +D(ry)

®=—[F -dx = [ (- fv = fi?
0 0 2
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(3.3.4)

(3.4.1)



1 (2.2.2) «x
qﬁ:%fagsinz(a)oHcS) (3.4.2)
@
E:lm(@)z (3.4.3)
2 dt
(2.2.2)
Ezéagfcosz(a)ot+5) (3.4.4)
(3.4.2) (3.4.4)
U:E+¢:%fa§ (3-4.5)
@g = i
m
U ——ma)gag (3.4.6)
=Z=0, ® =max

+x
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1 3.4.1
1
3.4.2
Un=(n+%)ha)o, n=0,1 2 ..., o (3.4.7)
= hi2n
1
Uy=—lo
0=5N
A
\ |
\ o, |
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